Math 240 - Quiz 4 Name _key
February 17, 2022 Score

Show all work to receive full credit. Supply explanations when necessary. This quiz is due
February 22.

1. (3 points) Consider the initial value problem z2y” —5zy'+5y = 0; y(1) =4, ¥'(1) = 2.

(a) Show that y;(z) = 2° and ys(z) = z solve the differential equation.
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(b) Use the Wronskian to show.that y; and y, are linearly independent for z > 0.
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(c) Find the solution of the initial value problem. X>y O
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.2. (2 points) Solve:  y” + 12y’ + 36y = 0; y(0) =2, ¢'(0)=-3
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3. (2 points) Find the general solution: y® + 3y® + 24" =0
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4. (3 points) Consider the equation " + 2y’ — 15y = —32¢72.

(a) Show that y,(z) = 2e77 is a particular solution.
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| (b) Find the general solution.
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